5om3 G VY
51 1 o207
0 m o 17.9%
5 m o 12
0 m 0470
51300 34%
6 300m: 40 i Y
(20

40.0%
3504
3004
2504
200%
15.0%
10.0%

5.0%

0.0%

3.4%  40%
e |

£ LSS s
o e e e e

420] 1,174,710 1,195561 -18%| -20,851

410] 1,174,710 1,182,738 -0.7%] -8,028|

400] 1,174,710 1169915 0.4% 4,795

| | 390 174,710 157,092 5% 17,618

| | 380 74,710 .144,270 %) 30,441
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| | 350 174,710 05,801 %) 68,909

340] 1,174,710 1,092,978 7.0%| 81,732

420 39,117 39494 -1.0%] -378|

410 39,117 39,449 -0.9%| -333]

400 39,117 39,404 -0.7%] -288|

390 39,117 39,359 -0.6%] -243|

| | 380 39,117 39,314 -0.5%] -198|

370 39,117 ,269 -0.4%] -153|

360 39,117 ,224 -0.3%] -108

| | 350 39,117 ,179 -0.2%] -63]

340 39117 1134 0.0% -18)

420| 1,474,488 1522245 -32%| -47,757

410] 1,474,488 1,502,831 -1.9%| -28,343

400] 1,474,488 1483417 -0.6%] -8,929

| | 390| 1474488 1464,003 0.7% 10,486

| | 380| 1474488 1,444,589 2.0%| 29,900

370 1‘474,488‘ 1425175 3.3%| 49,314

| | 360 1474488 1405761 4.7% 68,728

| | 350| 1474488 1,386,347 6.0%| 88,142

340] 1474488 1,366,933 7.3%] 107,556
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